22/12/2014 115

- CAVITY ASSEMBLY WITH CATALYTIC SHELF (OPTIONAL) |

EXPLODED VIEW -CAVITY ASSEMBLY

ONLY FOR ELECTRIC GRILL NEW G.FS GAS (OPTIONAL)
- WITH/WITHOUT CATALYTIC PANEL (OPTIONAL)

NEW G.FS GAS (OPTIONAL)
WIRE SHELF CAVITY ASSEMBLY


duyguko
Metin Kutusu
22/12/2014



WIRE SHELF CAVITY ASSEMBLY WIRE SHELF CAVITY ASSEMBLY
WITH/ WITHOUT CATALYTIC PANEL -~ WITH/ WITHOUT CATALYTIC PANEL

OPTIONAL:DOUBLE TELESCOPIC RAIL (R/L) - OPTIONAL:TELESCOPIC RAIL (R/L)

ARV AN
W\ Vgt R\
AR R \
\
\ \
. )Y

. ~ POSITION NUMBER :588
POSTIONNUMBER:587 O NNBER 2 renvsion
OPTIONAL:DOUBLE TELESCOPIC RAIL (R/L) GROUP ~ OPTIONAL: SINGLE TELESCOPIC RAIL (R/L) GROUP

POSITION NUMBER : 585 POSITION NUMBER: 586

WIRE SHELF (FULL EXTENSION) | WIRE SHELF (FULL EXTENSION)
OPTIONAL:DOUBLE TELESCOPIC RAIL (R/L) GROUP OPTIONAL: SINGLE TELESCOPIC RAIL (R/L) GROUP

EXPLODED VIEW -CAVITY ASSEMBLY 22/12/2014


duyguko
Metin Kutusu
(SINGLE EXTENSION)


duyguko
Metin Kutusu
(SINGLE EXTENSION)


duyguko
Metin Kutusu
(FULL EXTENSION)


duyguko
Metin Kutusu
(FULL EXTENSION)


duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu
22/12/2014



TOP AND GRILL HEATING ELEMENT
(OP TTONAL ONLY FOK

CLECTRIT GRILE NEW G.FS GAS)

 OVEN BURNER
(ONLY FOR NEW G.FS GAS)

| i | THERMST BULB
HSH KEBAB HOLDER /BRACKET
! ACCESSORY (OPTIONAL)

' SRACKET
, (OPTIONAL) (OPT |ONAL)

W TELESCUOPIC RAIL | /:@ 115

GRID ( OPTIONAL ) TURNSPIT ( OPTIONAL )

JEEP TRAY GRID  C OPTTONAL

| G \/
| GLASS GRILL PAN AND HANDLE SET

TRAYS ( OPTIONAL ) 7 (TRAY SET FOR GRILL) -
POSTTITON NO 265 ( OPTIONAL

CAPLODED VIEW - CAVITY ASSEMBLY 2211212014



duyguko
Metin Kutusu
22/12/2014



CAVITY ASSEMBLY SPARE PART LIST

POSITION

NUMBER PART NAME
2 OVEN LIGHT
4 SCREW (3.9%9.5)
7 REAR INSULATION COVER
10 CAVITY
12 HINGE COUNTERPART (LEFT /RIGHT)
13 SCREW (M4*8)
14 BOTTOM INSULATION COVER
15 TRAY (DEEP / SHALLOW)
16 OVEN DOOR GASKET
17 GRID (LOCKED ,W.TELESCOPIC RAIL)
18 THERMOSTAT BULB BRACKET
19 FAN COVER
40 SCREW (KNURLED, 3.5%9.5)
61 TELESCOPIC RAIL (LEFT / RIGHT)
71 SCREW (KNURLED,3.9%6.5)
82 CAPILLARY THERMOSTAT
99 SPARK PLUG WITH CABLE (OVEN /GRILL BURNER)
106 DEEP TRAY GRID
112 TOP AND GRILL HEATING ELEMENT
114 TOP AND GRILL HEATING ELEMENT BULB BRACKET
115 TURNSPIT GRILL
116 TURNSPIT SKEWER
117 TURNSPIT MOTOR
131 BURNER COVER
133 OVEN INJECTOR HOLDER
134 BURNER BOX
135 OVEN BURNER
136 GRILL BURNER
143 TURNSPIT HOUSE (ONLY CAN BE USED WITH (DEEP /SHALLOW )TRAY
CATALYTIC PANEL WITH WIRE SHELF (ENAMELLED)
144 SHELF COVER (RIGHT/LEFT,CATALYTIC ENAMELLED)
173 SCREW (3.9%13)
174 TRAY GRID
198 BURNER BOX HEAT COVER
252 WIRE SHELF FIXING CLIP
253 WIRE SHELF (R/L)
263 GRILL PAN
264 GRILL PAN HANDLE
265 TRAY SET(SMALL , BLACK)

The exploded views given in this document are generic.They include all possible versions of the product.

For specific part codes,please refer to the bom list of regarding model.

22/12/2014


duyguko
Metin Kutusu
22/12/2014



CAVITY ASSEMBLY PARTS

POSITION

NUMBER PART NAME
266 SCREW (M4*4T,STAINLESS)
328 WASHER (ENAMELLED,BLACK)
456 SHISH KEBAB ACCESSORY
479 THERMOSTAT BULB HOLDER (GAS)
524 BURNER DEFLECTOR
529 BURNER ASSEMBLY BRACKET
530 EYE SCREW (M5*12,AISI304)
537 OVEN BURNER
538 INJECTOR HOLDER (OVEN BURNER,55,NG)
540 TURNSPIT HANDLE
541 INJECTOR (OVEN/GRILL)

584 THERMOCOUPLE (OVEN/GRILL)

585 STRING SHELF GROUP (FULL EXTENSION)

586 STRING SHELF GROUP (FULL EXTENSION)

587 STRING SHELF GROUP (SINGLE EXTENSION)

588 STRING SHELF GROUP (SINGLE EXTENSION)

608 LIMITER BRACKET WITH SCREWING

The exploded views given in this document are generic.They include all possible versions of the product.
For specific part codes,please refer to the bom list of regarding model.

22/12/2014


duyguko
Metin Kutusu
22/12/2014



OVEN DOOR ASSEMBLY EXPLODED VIEW (OPTIONAL)

POSITION
NUMBER :377
(DOOR)

220,239,240,432 is for Removable Third Glass Versions
262,67 is for Removable Glass Versions

: i © INTERVAL GLASS (OPTIONAL) i
. HANDLE BODY WITH ! ! ONLY OVEN DOOR !
- HANDLE BRACKET (OPTIONAL) : © WITH FULL GLASS STRUCTURE (OPTIONAL) ;

04.05.2015



SOLID TYPE OVEN DOOR ASSEMBLY EXPLODED VIEW
(FRONT VIEW OF GLASS)
(OPTIONAL)

POSITION
NUMBER :376
(DOOR)

st
[

04.05.2015



SOLID TYPE OVEN DOOR ASSEMBLY EXPLODED VIEW
(FRONT VIEW OF METAL WITH GLASS ) (OPTIONAL)

POSITION
NUMBER :395
(DOOR)

(OPTIONAL) @/@
@ S

TYPE 1

HANDLE ASSEMBLY GROUP OBLIQUE AESTHETIC FLAT AESTHETIC
POSITION NUMBER : 49 SOLID TYPE - POSITION NO 54 (OPTIONAL)
" (OPTIONAL) :

HANDLE ASSEMBLY GROUP
POSITION NUMBER : 49
(OPTIONAL)

04.05.2015



DOOR ASSEMBLY SPARE PART LIST

POSITION

NUMBER PART NAME

4 SCREW (KNURLED, 3.9%9.5)

49 HANDLE ASSEMBLY GROUP

50 INNER GLASS ASSEMBLY

51 SCREW (COUNTERSUNK-HEAD, M5*10, BLACK)

52 OVEN DOOR HINGE

54 OUTER GLASS ASSEMBLY

55 HANDLE BRACKET (LEFT-RIGHT)

56 HANDLE BODY

67 SCREW (3.9*9.5, SLIM HEAD)

75 OVEN DOOR SILICONE STOPER

91 NUT (M4)

173 SCREW (COUNTERSUNK-HEAD, 3.9*13)

204 HANDLE TAP (RIGHT-LEFT)

211 HANDLE ASSEMBLY GASKET

218 SCREW (COUNTERSUNK-HEAD,3.9*7.5,BLUNT,BLK)

220 INTERVAL FRONT PANEL SPRING

237 DOUBLE GLAZED OVN DOOR MTLTRIM(NEWGE66)

238 SCREW (COUNTERSUNK-HEAD, M5*18, BLACK)

239 HANDLE FIXING BUSH

240 SILICONE WASHER

262 REMOVABLE INNER GLASS SPRING (LEFT / RIGHT)

293 DOOR LOCK PIN

302 SCREW (COUNTERSUNK-HEAD,3.9*7.5,BLUNT,BLK)

329 GRADUAL WASHER

367 THERMOMETER GR(WITH POINTER,150C / GP)

376 SOLID TYPE OVEN DOOR ASSEMBLY(FRONT VIEW OF GLASS)

377 OVEN DOOR ASSEMBLY GROUP

395 SOLID TYPE OVEN DOOR ASSEMBLY
(FRONT VIEW OF METAL WITH GLASS )

432 FLAT PROF. DOOR INTERVAL GLASS

The exploded views given in this document are generic. They include all
possible versions of product.For specific part codes ,please refer to the bom list
of regarding model.






duyguko
Metin Kutusu
22/12/2014



YNTB FLAP DRAWER ASSEMBLY

FIXED DRAWER ASSEMBLY
(OPTIONAL)

22/12/2014


duyguko
Metin Kutusu
22/12/2014



ROMBER DESCRIPTION
3 WARMER DRAWER RAIL WHEEL
4 SCREW (CIRCULAR-HEAD, 3.9°9.5, BLACK)
5 WARMER DRAWER INNER COVER
6 WARMER DRAWER PANEL (60°60,3D)
14 BOTTOM INSULATION COVER (60°60)
37 DRAWER PANEL STOPPER
67 CHASSIS BRACKET CONTACT SCREW
227 FIXED DRAWER PANEL TOP BRACKET
330 SCREW (KNURLED,M4*4)
368 SCREW (KNURLED, 2.9*18)
369 SCREW (KNURLED, 2.9*8,BLACK)
371 FLAP DRAWER (HINGE / LEFT)
372 FLAP DRAWER LOCKING BRACKET
373 FLAP DRAWER LOCKING (MINI LATCH)
384 FLAP DRAWER LOCKING COUNTERPART(MINI LATCH)
389 DRAWER BOX
550 FIXED DRAWER PANEL BOTTOM BRACKET(NEW G)
607 4WG DRAWER RAILGROUP

“The exploded views given in this document are generic.They include all possible versions of the product.

For specific part codes, please refer to the bom list of regarding model.”

22/12/2014



duyguko
Metin Kutusu
22/12/2014



FREE STANDING COOKTOP VERSIONS

4 GAS COOKTOP XY % 3GAS1WOK COOKTOP
(OPTIONAL) ; L (OPTIONAL)

The exploded views given in this document are generic.They include all possible versions of the product.
For specific part codes please refer to the bom list of regarding model.

COOKTOP ASSEMBLY EXPLODED VIEW



3 GAS COOKTOP
(OPTIONAL)

%)
Z
o
1]
i
Ll
>
o
=
X
o
o
o
o]
<
0
2
|
o
L
L
4
L

3 GAS 1 ELECTRIC COOKTOP

(OPTIONAL)

The exploded views given in this document are generic.They include all possible versions of the product.

For specific part codes please refer to the bom list of regarding model.



FREE STANDING COOKTOP VERSIONS

2 GAS 2 ELECTRIC COOKTOP
(OPTIONAL)

The exploded views given in this document are generic.They include all possible versions of the product.
For specific part codes please refer to the bom list of regarding model.



FREE STANDING COOKTOP ASSEMBLY SPARE PART LIST

POSITION
NUMBER PART NAME
86 SCREW (COUNTERSUNK-HEAD, M3*8, LENTIL HEAD)
91 NUT
92 BURNER CAP (RAPID / AUXILIARY /SEMI-RAPID / WOK BURNER)
93 BURNER HEAD (RAPID / AUXILIARY /SEMI-RAPID /WOK BURNER)
95 PAN SUPPORT (RIGHT / LEFT )
96 PAN SUPPORT BUMPER
98 SPARK PLUG GASKET
99 SPARK PLUG WITHCABLE
100 SPARK PLUG SEGMENT
101 THERMOCOUPLE (RAPID /AUXILIARY/SEMI-RAPID/WOK BURNER
102 COOKTOP
103 THERMOCOUPLE FIXING NUT
105 HOTPLATE
107 WASHER
109 INJECTOR (RAPID /AUXILIARY/SEMI-RAPID/WOK BURNER)
147 BURNER BODY (RAPID /AUXILIARY/SEMI-RAPID/WOK BURNER)
170 ENAMELLED COOKTOP FIXING CLIP SCREW
175 WOK BURNER CONTACT SCREW
178 HOTPLATE HOUSING
257 WOK BURNER SUPPORT
385 ENAMELLED COOKTOP FIXING CLIP

The exploded viewa given in this document.They include all possible versions of the product.
For specific part codes please refer to the bom list of regarding model.




GLASS LID WITH SHORT PROFILE
(OPTIONAL)

Y
w
(=Y

J ‘ : / Ay

i

@@@ ® @

METAL LID (OPTIONAL)
POSITION NUMBER :153

GLASS LID WITH BUMPER

- (OPTIONAL)

&

" ONLY FOR " ONLY FOR

ONLY FOR
METAL LID © NONELID . GLASSLID
LID ASSEMBLY SPARE PART LIST
POSITION
NUMBER PART NAME
87 GLASS LID ASSEMBLY GROUP
88 GLASS LID HINGE (LEFT/RIGHT)
140 METAL LID
153 METAL LID ASSEMBLY
154 METAL LID HINGE TOP PART
155 METAL LID HINGE BOTTOM PART
156 METAL LID HINGE
157 METAL LID HINGE TOP COUNTERPART
159 METAL LID BUMPER
195 GLASS LID BUMPER SILICONE
206 GLASS LID FRO.PROFILE SILICON BUMPER
240 SILICON WASHER
243 CONNECTION SCREW
333 GLASS LID BACK PROFILE CAP
413 GLASS LID COVERING PLS PART
414 COOKTOP COVERING PLS PART
450 METAL LID HINGE
The exploded views given in this document are generic. They
include all possible versions of product.For specific part codes,
please refer to the bom list of regarding model.




3D- 3GAS+1ELECTRIC - NO TIMER CONTROL PANEL ASSEMBLY

22/12/2014

EXPLODED VIEW - CONTROL PANEL ASSEMBLY


duyguko
Metin Kutusu
 76


duyguko
Metin Kutusu
5


duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu

duyguko
Metin Kutusu
22/12/2014



MECHANIC TIMER ( OPTIONAL )

DIGITAL TIMER ( OPTIONAL )

GRILL HEAT COVER

(OPTIONAL)

FLAT METAL CONTROL PANELS

3D METAL CONTROL PANELS

( OPTIONAL )
CONTROL PANEL ASSEMBULY PARTS

( OPTIONAL )

T
O
T
<
n
L
T
T
<
— LE ERe
< O o) P
- ol< - 0
m " 0
H T [ <C
= L = — |m = O W
- |
< \ - < L
Z 0 =y T |> <
~ x|z
. «w o[- =z S
= < _ %) |0 = P Wi,
o 0] » IM) < Ty
E —
< ol o 2| @ |&E " |-
O - L 1
o n| (o 0| (9] | <<
2 Oyl [~ 2 —| |<
Z| o . <|<|z — NO o0
~| |~ '®) -
= —|~|o|x| |o @ O lo|-|x|x
— i 0 — W [<C — -]
>y Olo|<| |x = CEHCW al Fl<|" "o
~" z|T|T w| |© > = b I Gl Y e e
Tp) ~ 1
8 S Ll I P - )LL8_D|nA RNUUOOR
~ |
|2 |olo — Ol la| lal@|y|<| | fw Dllolo ™
X O L — * V*C O
o |w|© HWETEN — DS IX|ZS|T|D 4ECSDTTETTR
: == O — T
o b N (=Y 1 Ll DS < [E[<l<lol<|zlzla == e P LT <<
g LH_HLWAD.WD.GLOL( (EMEOUGYEEA
s OO .
w0 _.FASDu x| |w =l — N R el B o T° | |®
WDOFm > ol |” =R =
wi || || RRNBBBADAECKEBRRRRNRLLE
—_ pd Pl 1|
|0 NRSSCEoooo 217 |z |0 |o MM MY |ww == =
b
O (< ATOAINRNNN@H@CUOCNWWWWVNRRN
n|oClslnlz|o|=|1Z|Llx|x|x|nlo]lolon|w ool |-|-|-|~lo|w|o|o|x
e R R R R R R B R R R .
=z
14
O w
MN[0 IN|M |O
TB480345690234678901340122368990
IM 56666667777777788889111111113
7))
=
O
=
o

-THERM OSTATIC

/' N O N

s eperate

THERMOSTATIC

IG H T B E

M
a

V ALV E S

optional.

*O V E N

th is

)

th erm os tat

a

h ave

t

O ho
th is

d
n

O ve n s

S

G
vie w S

IS

a

are generwic . They include

docum ent

product.

give n

e x ploded

e

“T h

of th e
code s |,

versions

p os s ible

F o r

m odel.”’

re garding

list of

m

b o

th e

to

re fer

ple ase

p art

s pecific

22/12/2014

EXPLODED VIEW - CONTROL PANEL ASSEMBLY


duyguko
Metin Kutusu
90


duyguko
Metin Kutusu
22/12/2014



EXTRA BOTTOM SUPPORT
(WITH LOUVRES)

( OPTIONAL ONLY FOR
ELECTRIC GRILL FS GAS )

SIDE PANEL ASSEMBLY
N MBER PART NAME
4 SCREW (3.9%9.5)
27 COOKTOP ANGLE IRON (LEFT / RIGHT)
28 REAR TOP PANEL
29 REAR PANEL
30 TERMINAL BOX
31 POWER CORD
32 SIDE PANEL
33 REAR PLINTH
34 ADJUSTABLE FOOT
36 FRONT PLINTH
38 EXHAUST (56/66)
80 SCREW (KNURLED, M4*6)
82 CAPILLARY THERMOSTAT
130 SIDE CLOSING PROFILE (FOR FLAT OVEN DOOR WITH FULL GLASS)
148 CONCRETE WEIGHT
149 SCREW (CIRCULAR-HEAD, 4.8*32)
194 REAR BOTTOM LID ( OPTIONAL )
229 EXTRA BOTTOM SUPPORT ( ONLY FOR 90CM )
250 GAS-ON-GLASS HOB IGNITOR HOLDER
251 SIDE PANEL SUPPORT BRACKET
398 TERMINAL BOX COVER PLASTIC (66,56,GAS)
409 ANTI-TIP BRACKET (GROUND TYPE)
410 ANTI-TIP BRACKET HOLDER (WALL TYPE)
560 ANTI-TIP BRACKET (WALL TYPE)
“The exploded views given in this document are generic. They include all possible versions of the product.
For specific part codes, please refer to the bom list of regarding model.”

EXPLODED VIEW - SIDE PANEL ASSEMBLY


duyguko
Metin Kutusu
22/12/2014



OVEN DOOR HANDLES (OPTIONAL)

HANDLES WITHOUT TAP & BRACKET

ELLIPSE ARC

D PROFILE ARC

X/

METALUX

D PROFILE ARC,ELECTROLUX
( ONLY FOR FS - OPTIONAL )

FNP
( ONLY FOR BUILT-IN - OPTIONAL )

RUSTIC

HANDLES WITH BRACKET

ARC QUADRANGLE

3D QUADRANGLE
(ONLY FOR FS/ NEW G/ BUILT-IN - OPTIONAL )

HANDLES WITH TAP & BRACKET

HANDLES WITH TUNNEL TAP

NO FAN TYPE
( ONLY FOR BUILT-IN - OPTIONAL )

FLAT QUADRANGLE m
( ONLY FOR FS/ NEW G/ BUILT-IN - OPTIONAL )

ARC TUBE

Ny

RIGHT

RIGHT

g &F

FLAT SLICE

RIGHT

CURVED QUADRANGLE

22/12/2014



duyguko
Metin Kutusu
22/12/2014



KNOBS ( ONLY FOR NEW G - OPTIONAL )

l BIG MACRO
( ONLY FOR NEW G ELECTRIC/
‘ NEW G VITROCERAMIC - OPTIONAL )

TRIO SIGMA DELTA RING RUSTIC RISUS

22/12/2014


duyguko
Metin Kutusu
22/12/2014



	ocak_tablasi_gazli_s_kombine_2.pdf
	Sheet 4
	Views
	new_view_2
	new_view_3
	new_view_8
	new_view_9
	new_view_10



	yntb_66_cekmece_3d_expl.pdf
	Sheet 1
	Views
	new_view_8
	new_view_9


	Sheet 2
	Views
	new_view_12
	new_view_16


	Sheet 3

	YNTB_GAS_cavity_assembly_explode.pdf
	Sheet 1
	Views
	new_view_1


	Sheet 2
	Views
	new_view_4
	new_view_7
	new_view_11
	new_view_15


	Sheet 3
	Views
	new_view_20
	new_view_21
	new_view_29
	new_view_125


	Sheet 4
	Views
	new_view_24
	new_view_25
	new_view_26
	new_view_27
	new_view_122
	new_view_123


	Sheet 5
	Sheet 6
	Sheet 7
	Sheet 8
	Sheet 9
	Views
	new_view_57
	new_view_58
	new_view_59
	new_view_60


	Sheet 10
	Sheet 11
	Sheet 12
	Views
	new_view_109
	new_view_110
	new_view_111


	Sheet 13
	Sheet 14
	Sheet 15
	Views
	new_view_83
	new_view_84
	new_view_85
	new_view_86
	new_view_115
	new_view_116



	TABLE_ING_5_6.pdf
	Sheet 5
	Sheet 6

	yntb_66_cavity_assembly_explode_gas.pdf
	Sheet 1
	Views
	new_view_1


	Sheet 2
	Views
	new_view_4
	new_view_7
	new_view_11
	new_view_15


	Sheet 3
	Views
	new_view_20
	new_view_21
	new_view_29
	new_view_125


	Sheet 4
	Views
	new_view_24
	new_view_25
	new_view_26
	new_view_27
	new_view_122
	new_view_123


	Sheet 5
	Sheet 6
	Sheet 7
	Sheet 8
	Sheet 9
	Views
	new_view_57
	new_view_58
	new_view_59
	new_view_60


	Sheet 10
	Views
	new_view_109
	new_view_110
	new_view_111
	new_view_127


	Sheet 11
	Views
	new_view_83
	new_view_84
	new_view_85
	new_view_86
	new_view_115
	new_view_116


	Sheet 12
	Sheet 13
	Sheet 14
	Sheet 15

	yntb_cam_ocak_kpk_ass_gR.pdf
	Sheet 1
	Views
	new_view_1
	new_view_2
	new_view_3
	new_view_4
	new_view_5
	new_view_6
	new_view_7



	yntb_66_oct_gas_com_versiyonlar.pdf
	Sheet 1
	Views
	new_view_1
	new_view_4


	Sheet 2
	Views
	new_view_6
	new_view_7


	Sheet 3
	Views
	new_view_10


	Sheet 4
	Sheet 5

	yntb_66_oct_gas_com123.pdf
	Sheet 1
	Views
	new_view_1
	new_view_4


	Sheet 2
	Views
	new_view_6
	new_view_7


	Sheet 3
	Views
	new_view_10


	Sheet 4
	Sheet 5
	Sheet 6
	Views
	new_view_15
	new_view_16


	Sheet 7
	Views
	new_view_18
	new_view_19



	YNTB_66_DOOR_ASSEMBLY.pdf
	Sheet 2
	Views
	new_view_5
	new_view_12
	new_view_13


	Sheet 3
	Views
	new_view_1


	Sheet 4
	Views
	new_view_1
	new_view_10
	new_view_11


	yntb_66_profil_kapi_3c_sbt_3.pdf
	Sheet 5





